

PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 5/12/2025 12:08:38 PM

| | | | General De | etails | | | | | |
|-----------------------------------------------------------------------------------|---------------------------------------------------------------|-------------------------|------------------------------------------|---------------|--------------------------------|-----------------------|-----------------|---------------------|--|
| Parcel ID: | 275-0019-00760 |) | | | | | | | |
| Document: | Abstract - 72805 | | | | | | | | |
| Document Date: | 08/03/1998 | - | | | | | | | |
| | | leo | gal Description | on Details | | | | | |
| Plat Name: | BREVATOR | ; | Jai Decempti | | | | | | |
| Section | - | nship | F | Range | | Lot | 1 | Block | |
| 24 | | 50 17 | | | | | | | |
| Description: | SE1/4 OF SE1/4 EX N1/2 & EX W1/2 & EX N 66 FT OF E1/2 OF S1/2 | | | | | | | | |
| | | | Taxpayer D | etails | | | | | |
| axpayer Name | GENEREAU AN | DREW & GW | | | | | | | |
| and Address: | 3901 CROSBY I | RD | | | | | | | |
| | CLOQUET MN | | | | | | | | |
| | | | | | | | | | |
| | | | Owner De | tails | | | | | |
| Owner Name | GENEREAU AN | DREW | | | | | | | |
| Owner Name | GENEREAU GV | VEN | | | | | | | |
| | | Paya | able 2025 Tax | k Summary | | | | | |
| | 2025 - Net T | ax | | | \$6, | 281.00 | I | | |
| | 2025 - Spec | ial Assassma | A secondaria | | | \$85.00 | | | |
| | | | al Assessments | | | | | | |
| | 2025 - То | tal Tax & S | Special Asse | ssments | \$6, | 366.00 | 1 | | |
| | | Curren | t Tax Due (as | s of 5/11/202 | 5) | | | | |
| Due May 1 | 5 | 1 | Due Octol | ber 15 | | | Total Due | | |
| 2025 - 1st Half Tax | 2025 - 2nd Half Tax \$3,183.00 | | | | 2025 - 1st Half Tax Due \$3,1 | | | | |
| 2025 - 151 Hall Tax | \$3,183.00 | 2025 - 21 | | φ3,10 | 53.00 2 | 00 2025 - 1st Haif Ta | | \$3,183.00 | |
| 2025 - 1st Half Tax Paid | 2025 - 1st Half Tax Paid \$0.00 | | 2025 - 2nd Half Tax Paid \$0.00 | | | 2025 - 2 | \$3,183.00 | | |
| 2025 - 1st Half Due | \$3,183.00 | 2025 - 21 | 2025 - 2nd Half Due \$3,183.00 | | 33.00 2 | 2025 - Total Due | | \$6,366.00 | |
| | 40,100100 | 1010 1 | | | | | | +0,000100 | |
| | | | Parcel De | tails | | | | | |
| Property Address: | 3901 CROSBY I | RD, CLOQUE | T MN | | | | | | |
| | 94 | | | | | | | | |
| | | | | | | | | | |
| Tax Increment District: | | | | | | | | | |
| School District: Tax Increment District: Property/Homesteader: | - GENEREAU, AN | | | OF Devekler | | | | | |
| Tax Increment District: Property/Homesteader: | 4 | Assessme | nt Details (20 | | - | | 5 (5)) | N / T | |
| Tax Increment District: Property/Homesteader: Class Code Hom | · · · | Assessme Land | nt Details (20 Bldg | Total | 2 026) Def La EM\ | | Def Bldg EMV | Net Tax Capacity | |
| Tax Increment District: Property/Homesteader: Class Code Hom | estead atus | Assessme | nt Details (20 | | Def La | | | Net Tax Capacity | |
| Fax Increment District: Property/Homesteader: Class Code Hom (Legend) St | estead atus omestead | Assessme Land EMV | nt Details (20 ^{Bldg} EMV | Total EMV | Def La EM\ | | EMV | | |



PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 5/12/2025 12:08:38 PM

| | | | | Land D | etails | | | | |
|-----------------------------------------------------------------------------------------------------------------------------------------------------------|-------------------------|-----------------------------------------------|-----------------------------------|--------------------------------|--------------------------------------------|--------------------------------------------|-------------------------|--|--|
| Deed | led Acres: | 9.00 | | | | | | | |
| Wate | erfront: | - | | | | | | | |
| Wate | er Front Feet: | 0.00 | | | | | | | |
| Wate | er Code & Desc: | W - DRILLED WI | ELL | | | | | | |
| Gas | Code & Desc: | - | | | | | | | |
| Sewe | er Code & Desc: | S - ON-SITE SAI | NITARY SYSTI | EM | | | | | |
| Lot V | Vidth: | 0.00 | | | | | | | |
| Lot D | Depth: | 0.00 | | | | | | | |
| The c https: | dimensions shown are no | ot guaranteed to be s gov/webPlatsIframe/f | urvey quality. A rmPlatStatPop | Additional lo Up.aspx. If t | t information can be here are any quest | e found at ions, please email PropertyT | ax@stlouiscountymn.gov. | | |
| | | | Improve | ement 1 D | etails (HOUSE | :) | | | |
| Ir | mprovement Type | Year Built | Main Flo | oor Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Desc. | | |
| | HOUSE | 1998 | 2,04 | 40 | 3,240 | U Quality / 0 Ft ² | 2S - 2 STORY | | |
| | Segment | Story | Width | Length | Area | Foundat | ion | | |
| | BAS | 1 | 24 | 27 | 648 | FOUNDAT | ΓΙΟΝ | | |
| | BAS | 2 | 30 | 40 | 1,200 | BASEME | INT | | |
| | DK | 1 | 6 | 24 | 144 | - | | | |
| | OP | 1 | 8 | 8 | 64 | PIERS AND FO | DOTINGS | | |
| | OP | 1 | 8 | 30 | 240 | PIERS AND FO | DOTINGS | | |
| | OP | 1 | 10 | 48 | 480 | PIERS AND FOOTINGS | | | |
| | OP | 1 | 14 | 24 | 336 | FOUNDATION | | | |
| | Bath Count | Bedroom Co | unt | Room (| Count | Fireplace Count | HVAC | | |
| | 2.5 BATHS | 4 BEDROOM | ЛS | - | | 2 C | &AIR_EXCH, PROPANE | | |
| | | | Improvem | ent 2 De | tails (AG 24X24 | 4+) | | | |
| Ir | nprovement Type | Year Built | Main Flo | | Gross Area Ft ² | Basement Finish | Style Code & Desc. | | |
| | GARAGE | 2001 | 57 | 6 | 576 | - | ATTACHED | | |
| Γ | Segment | Story | Width | Length | Area | Foundat | ion | | |
| | BAS | 1 | 24 | 24 | 576 | FOUNDATION | | | |
| Improvement 3 Details (ST 12X16+) | | | | | | | | | |
| Ir | nprovement Type | Year Built | Main Flo | | Gross Area Ft ² | , Basement Finish | Style Code & Desc. | | |
| | ORAGE BUILDING | 1975 | 19 | 2 | 192 | - | - | | |
| <u>ا</u> | Segment | Story | Width | Length | _ | Foundat | ion | | |
| | BAS | 1 | 12 | 16 | 192 | POST ON G | | | |
| | LT | 1 | 18 | 16 | 288 | POST ON G | | | |
| | | | | | | | | | |
| Improvement 4 Details (WORKSHOP) Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & Desc. | | | | | | | | | |
| | | 1998 | 49 | | 496 | Dasement Finish Style Code & Des | | | |
| | | | Width | | | - Foundat | ion | | |
| | Segment BAS | Story 1 | 8 | Length 8 | 64 | | | | |
| | | • | | | | | FLOATING SLAB | | |
| l l | BAS | 1 | 18 | 24 | 432 | FLOATING | JLAD | | |



PROPERTY DETAILS REPORT





Date of Report: 5/12/2025 12:08:38 PM

| | | Improven | nent 5 Deta | ils (10X12 SL | P) | | | | | |
|-------------------|---------------|------------------------|----------------------------------|----------------------------|---------|------------------------------|--------|-------------------|--|--|
| Improvement Typ | e Year Built | | | iross Area Ft ² | - | ment Finish | S | tyle Code & Desc. | | |
| SLEEPER | 2005 | 12 | 20 | 150 | | - | | - | | |
| Segme | nt Stor | y Width | Length | Area | | Founda | tion | | | |
| BAS | 1.2 | 10 | 12 | 120 | | PIERS AND F | OOTIN | GS | | |
| DKX | 1 | 16 | 4 | 64 | | PIERS AND F | GS | | | |
| OPX | 1 | 10 | 4 | 40 | | PIERS AND FOOTINGS | | | | |
| | | Improvem | ent 6 Detail | s (GARDEN | ST) | | | | | |
| Improvement Typ | e Year Built | Main Fl | oor Ft ² G | iross Area Ft ² | Base | Basement Finish Style Code & | | | | |
| STORAGE BUILDIN | NG 2009 | 45 | 452 | | | - | | - | | |
| Segme | nt Stor | y Width | Length | Area | | Foundation | | | | |
| BAS | | | 10 | 100 | | FOUNDATION | | | | |
| BAS | 1 | 16 | 22 | 352 | | FOUNDA | TION | | | |
| | | Imp | provement 7 | 7 Details | | | | | | |
| Improvement Typ | e Year Built | Main Fl | oor Ft ² G | iross Area Ft ² | Base | ment Finish | S | tyle Code & Desc. | | |
| | 1998 | 30 | 00 | 300 | | - | F | PLN - PLAIN SLAB | | |
| Segme | nt Stor | y Width | Length | Area | | Founda | tion | | | |
| BAS | 0 | 12 | 25 | 300 | | - | | | | |
| | | Sales Reported | l to the St. L | _ouis County | Auditor | | | | | |
| Sa | le Date | | Purchase F | Price | | CR | V Numl | ber | | |
| 30 | | \$9,000 | | | 123349 | | | | | |
| 12 | | \$5,000 | | | | 119450 | | | | |
| 11 | 1/1997 | | \$16,000 119614 | | | | | | | |
| | | Α | ssessment | History | | | | | | |
| | Class Code | Land | Bldg | lda Total | | Def Land | | ef dg Net Tax | | |
| Year | (Legend) | EMV | EMV | | MV | EMV | | AV Capacity | | |
| | 201 | \$46,800 | \$424,3 | 00 \$47 | 1,100 | \$0 | \$ | 0 - | | |
| 2024 Payable 2025 | Total | \$46,800 | \$424,3 | 00 \$47 | 1,100 | \$0 | \$ | 0 4,669.00 | | |
| | 201 | \$40,500 | \$386,9 | 00 \$42 | 7,400 | \$0 | \$ | 0 - | | |
| 2023 Payable 2024 | Total | \$40,500 | \$386,9 | 00 \$42 | 7,400 | 00 \$0 | | 0 4,274.00 | | |
| | 201 | \$32,900 | \$379,2 | 79,200 \$412,10 | | \$0 | | 0 - | | |
| 2022 Payable 2023 | Total | \$32,900 | \$379,2 | 9,200 \$412,10 | | \$0 \$0 | | 0 4,119.00 | | |
| 2021 Payable 2022 | 201 | \$32,900 | \$363,1 | 3,100 \$396,00 | | \$0 | \$ | 0 - | | |
| 2021 Fayable 2022 | Total | \$32,900 | \$363,1 | 00 \$39 | 6,000 | \$0 | \$ | 0 3,944.00 | | |
| | | - | Tax Detail H | listory | | | | | | |
| Tax Year | Тах | Special Assessments | Total Tax Special Assessme | | Land MV | Taxable Buil MV | ding | Total Taxable M\ | | |
| 2024 | \$5,747.00 | \$85.00 | \$5,832.0 | 00 \$40 | 0,500 | \$386,900 |) | \$427,400 | | |
| 2023 | \$5,867.00 | \$85.00 | \$5,952.0 | 0 \$32 | 2,888 | \$379,061 | 1 | \$411,949 | | |
| 2022 | \$6,449.00 | \$85.00 | \$6,534.0 | 0 \$32 | 2,767 | \$361,633 | 3 | \$394,400 | | |



St. Louis County, Minnesota



Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.